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SN 230E
Y 2300 HY
ool 2sosXe 235 EERED
- _ — HdE T
S EHB .S (BH) - HRAIY - B2 0 AF oA e HDZS2
SHZRAE AY 325,000 3,380,000 13,055,000
2 250,000
= 75,000
403 X+ X EHH S XH2 0 & 325,000 3,380,000 13,055,000
2 250,000
< 75,000
01 RIS K= B X 325,000 3,380,000 13,055,000
OHHEl M= SR =4 325,000
=2 250,000
= 75,000
SHASAY 13,500 13,500 0
307 BI2+0| & 13,500 13,500 0
04 BIRHSY AN 13,500 13,500 0
OZHAS ALY 13,500
ce4s= nENE 23,400 28,400 5,000
308 X+l £ HI S0 & 23,400 23,400 0
01 HXEHBAEES 23,400 23,400 0
OEH43 =N e 23,400
2012359 20108 2AXE 5,000 5,000 0
307 BI2+0| & 5,000 5,000 0
02 It A 5,000 5,000 0
O=0/235+8 320104 X 5,000
EY=C Ruls 29 30,000 30,000 0
307 BI2+0| & 30,000 30,000 0
02 QI AEE 30,000 30,000 0
OBF=E FUs 29 30,000
=230 29 N 1,044,660 800,000 244,660
306 22 1,044,660 800,000 244,660
01 &3 1,044,660 800,000 244,660
OB==23 e 24| N 244,660
OB=23NHT 712 Hg3 800,000
Ssols2 Yexe 120,900 174,500 153,600
201 LBre | 34,500 28,500 6,000
01 AL 22/ HI 34,500 28,500 6,000
Ot 33,000
= =] 18,000
~ 2SS0 EHA SEAMT AE 15,000
O3z 1,500
- 2HSHAFD 1,500




PN 230=1
3 2otz B
thel: 2attl=Xd 243t (el &)
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
203 YR =& 56,400 66,000 /9,600
03 A=A H 2= H| 56,400 66,000 29,600
OXZLZtU=A =& 26,400
OS2 LAY =& 15,000
O=23 & =8 =& 15,000
405 KtatE =S| 30,000 80,000 A50,000
01 XML EEHSHI 30,000 80,000 250,000
OEAI 30 30,000
Z3E St HSANE 243t 65,000 260,000 A 195,000
= 50,000
= 15,000
308 XXM SO0IA 65,000 260,000 2 195,000
2 50,000
= 15,000
01 XM BAEELS 65,000 260,000 A 195,000
OZ3E ST dSANE 43 MY 65,000
= 50,000
L= 15,000
SSE3UE 2 15,000 0 15,000
307 212tol ™ 15,000 0 15,000
02 gzt atEx 15,000 0 15,000
02013 28 ES=E=2tUs 29 15,000
Zotllzs sS4 8,088,334 7,971,614 116,720
= 706, 110
Il 2,135,200
= 131,406
& 5,115,618
FFl=2dd 2SHIXA 300,000 300,000 0
308 AtXIHMSO0I A 300,000 300,000 0
01 IXNHHMEMNEXS 300,000 300,000 0
OFF0s2ddY 23H X 300,000
FZo=H3 FHEs N 532,000 507,000 25,000
201 LEr2 Y| 2,000 2,000 0
01 AtR2tel 2,000 2,000 0
Ok XN&¥l= 22+ 2,000
307 21Ztol & 530,000 505,000 25,000
02 It A8 X 400,000 400,000 0
OEXHM=¢C 400,000
04 BIZHHALE = 130,000 105,000 25,000
OHM38al sEEZ 0 40,000
ORMozl &&= 20,000




A 230l
Iu: 2sits Be
©°HeR 23t S4X2 (el &
RA B SA(BH) - NRAY - B 0fl &t e HRS2
Ogt=dsts82d 15,000
O2E2 ZJI& st DI SN (SEEH1005F
E Jl1Ed) 10,000
OHM232l S=AMUUX 20,000
ORM92l 8=EHHAHKHE =U&IIE 10,000
O&X d= s dA=tHA 10,000
O&= 03t012 At D18l d 5,000
NS SE M K& 80,000 0 80,000
308 AtXI&MSO0I A 80,000 0 80,000
01 HXEH3dE2L= 80,000 0 80,000
Oletl= SEIIM K& 20,000
=cldh HESIRM X 20,000
Od= =EIeM X 20,000
OR4d HEIRAM A& 20,000
2E d=dA X2 80,000 50,000 30,000
307 212+01 & 80,000 50,000 30,000
04 2I2tHALE X 80,000 50,000 30,000
o5 Zt=gA A& 80,000
Hobte 2sgs N2 328,514 328,514 0
= 131,406
< 197,108
307 212+01 ™ 328,514 328,514 0
= 131,406
< 197,108
04 SI2tH AL X 328,514 328,514 0
OX0bJt= =3tEs XEFAY 328,514
& 131,406
== 197,108
SSE23d SE2HANE 140,000 140,000 0
7 70,000
= 70,000
307 12+0l & 140,000 140,000 0
p) 70,000
& 70,000
02 QA3 Ex 140,000 0 140,000
Os=2=23d sg2gd NE 140,000
7 70,000
= 70,000
Z20IE 230z AU N 158,000 134,000 24,000
307 212+01 & 149,000 134,000 15,000
04 QIZHHALE X 149,000 134,000 15,000
OHM31e E5A=HM WAl 15,000




M Z3t0=n
B 250z 32
tel: 23tz SN (el &)
_ _ SIEN
SN CR(EH) - NRAY - BES arey e HRE2
OHM31al d=H=3H &It 25,000
OHMi26el s=&Fad A=H 9,000
ORlzesl E=28H M 15,000
OHM21el d=2EM &It 30,000
OHM31el A= fESZAUS 20,000
O&=dAHE SA2F2 U3 10,000
Os= 2 &It FAEAE HAEE 5,000
OE3ZEE HIAZHAE I 10,000
OHM10e &A=& A=H 10,000
308 XX SHHMSOIA 9,000 0 9,000
01 AXHHBAEES 9,000 0 9,000
OHM20s &2l M=stHorA 9,000
H=0E0=3HU It 290,000 40,000 250,000
= 8,000
e 282,000
308 XXM SO0IA 290,000 40,000 250,000
= 8,000
= 282,000
01 HXHHBLEES 290,000 40,000 250,000
O=2=0==M HWEE ot 24,000
= 4,000
< 20,000
ONdIFAEUEM=N HEE It 16,000
= 4,000
< 12,000
O=2UEM==M & FAHAUZ0M=M K= 250,000
S22 =Z AU 41,500 41,500 0
307 21Ztol 3,500 3,500 0
04 QIZHSHALE 3,500 3,500 0
OBSSHZHL 2050 3,500
308 XX SHHMSOIH 38,000 38,000 0
01 AXHHBLEES 38,000 38,000 0
O 198l E=0S0IS=H 23,000
OHN6al E=2&3AHB=M=M 15,000
S EM=d X 253,000 195,000 58,000
307 212+01 A 253,000 195,000 58,000
04 CIZHHALE & 253,000 195,000 58,000
ORM20s s=2F0=H 80,000
OR553l BB H 173,000
245 A3 X 40,000 40,000 0
307 2I2toI & 40,000 40,000 0
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PN 230=1
3 2otz B
thel: 23l S8 (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
10 HAIAMHIE &3 61,000 53,300 7,700
OWAA L AEEAHI &AE 56,000
OO0l 5,000
Mozt - 2SRS24= 830,800 638,300 192,500
O 2gHl 830,800
—HE A= 608,062
-HERE3 44,388
- AN BEEEZ 4,350
-3¢ 161,000
— =44 10,000
- SOAMEEE S0 3,000
Fotote ™ XA 1,343,200 1,378,000 A 34,800
J| 1,243,200
& 100,000
308 AtXISHMSOI A 1,343,200 1,278,000 65,200
Il 1,243,200
= 100,000
01 XM B EELS 1,343,200 1,278,000 65,200
OZstdt* M X3 A 1,343,200
| 1,243,200
= 100,000
ZAH? N2tz nsSAN2dEH 29 300,000 300,000 0
= 150,000
& 150,000
307 21Ztol 300,000 300,000 0
2 150,000
& 150,000
02 gzt atEx 300,000 300,000 0
OZH? NASHNSDSNVUE 2 300,000
=2 150,000
= 150,000
SEEsS 29 532,300 465,000 67,300
307 2IZtol 232,300 94,000 138,300
05 QIZtRE Z 232,300 94,000 138,300
O===sta 29 232,300
OE=Es2 A2 ¢ 29 0
308 XXM S0IA 50,000 0 50,000
01 IXNHHMBAEES 50,000 0 50,000
Os==zst2 M2 ¢ 29 50,000
401 Al 2B 2O b 250,000 348,000 298,000
01 Al Hl 250,000 348,000 98,000
OS=EZst A2 AtY 250,000




SM: 280D
Hu: 2a0s BY
ool 250E SHX CrRL
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
S5 0EIIBPE ALY 290,000 0 290,000
307 212+0| & 290,000 0 290,000
05 DI2teIEt 2 290,000 0 290,000
OE=2E 230z SABAY 250,000
OES2HE WX X 20,000
OZ0ISEEES UWEAIAY 20,000
RPN 1,102,000 0 1,102,000
| 822,000
= 280,000
307 212H0| & 1,102,000 0 1,102,000
| 822,000
= 280,000
02 BI2AAYMBE 1,102,000 0 1,102,000
OHXHAZZ O X2 70,000
| 35,000
= 35,000
2t oty X 120,000
| 60,000
= 60,000
ONEIIEN A (NASSHUESSXH) 64,000
| 32,000
= 32,000
OBAF AFUSLH SHX 509,000
| 356,000
= 153,000
OXN2SHUETLX 339,000
| 339,000
=0 23tz FRIIs = 100,000 0 100,000
307 212H0| & 100,000 0 100,000
05 BI2H9IEr 2 100,000 0 100,000
ONS It U ATEIL SHX & 100,000
23 olmet 7% U BHZE |4 11,720,200 8,861,600 2,858,600
= 234,000
3 7,840,000
= 63,000
= 3,583,200
ME2H SN X 250,000 250,000 0
308 XX £ S OI & 250,000 250,000 0
01 HXISHBABES 250,000 250,000 0
ORXI9al M2 NSt stH| 250,000
D/EHB HBAID B2 351,000 302,400 48,600
= 234,000
= 117,000




SH: 280D
Hu: 2a0e BY
o9l 23 QTE PE U BEX 84 (el:@g
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
308 XX EHHI S 01 & 351,000 302,400 48,600
= 234,000
= 117,000
01 XIS B A2 ES 351,000 302,400 48,600
OBTTAHB HBAIZ SFLY 351,000
2 234,000
= 117,000
DB 22U 252,000 252,000 0
& 63,000
= 189,000
703 DRYISLIANFHES 252,000 252,000 0
& 63,000
= 189,000
01 DRHISBIHTES 252,000 252,000 0
OBTZTAZ 27U 252,000
= 63,000
= 189,000
NYSEHEX 2AL 260,000 180,700 79,300
3 200,000
= 60,000
308 XX £HHI S 01 & 260,000 180,700 79,300
3 200,000
= 60,000
01 XS B A2 ES 260,000 180,700 79,300
ONXZSER = AL 260,000
3 200,000
= 60,000
& X2 H A Ol O & 20,000 20,000 0
308 Xt XI £H 7 S 01 & 20,000 20,000 0
01 KHXISHH B A2 ES 20,000 20,000 0
ORI108l = XI 2RI A 0l Ch & 20,000
eAEX T3l Nz L &I 30,000 30,000 0
307 212+0| & 30,000 30,000 0
04 DIFHALE 30,000 30,000 0
OR53 B2 e AXE[3 A L A2(3
&9} 30,000
SOAACITIO CHAA 20,000 20,000 0
307 212+0| A 20,000 20,000 0
04 BIFALR 20,000 20,000 0
OR103l BUHACIXIE ThAH 20,000
ObJlet BHGHE A 25 80,000 80,000 0
308 Xt XI £H 7 S 01 & 80,000 80,000 0
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2A: S30l=1
HM: 2= 2
chel: 23 Qo P& Y BEHE KA (el @
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
01 AXIEMBIAEEZ 80,000 80,000 0
O0tJI2F &Hdle BAY 25 80,000
cEctor g3 MAEXE 15,000 10,000 5,000
307 QI2t0| & 15,000 10,000 5,000
04 QIZ2HHALE = 15,000 10,000 5,000
OEetir - g3 AMUelEI =3 HENY 15,000
2l CIMEAIZ HE 743,000 357,000 386,000
= 743,000
403 XX S S K20 ™ 743,000 357,000 386,000
= 743,000
01 AEXIEHHI X 22 & 743,000 357,000 386,000
o228ty AIMAEAIZ AHE 743,000
& 743,000
PETNE HE 1,750,000 1,950,000 A 200,000
& 1,000,000
= 750,000
403 XSS K201 1,750,000 1,950,000 A 200,000
= 1,000,000
== 750,000
01 MXIEMAZ2E X 1,750,000 1,950,000 A 200,000
OLEETH HE 1,750,000
= 1,000,000
= 750,000
S EM HE 1,750,000 1,400,000 350,000
& 1,000,000
== 750,000
403 XXM S K20 ™ 1,750,000 1,400,000 350,000
& 1,000,000
= 750,000
01 MIXIEMAZ2E X 1,750,000 1,400,000 350,000
OTZENHel o=z HE 1,750,000
= 1,000,000
& 750,000
HF=AE 0= A2 1,050,000 1,125,000 A75,000
2 600,000
== 450,000
403 XXM S K20 ™ 1,050,000 1,125,000 A75,000
& 600,000
= 450,000
01 MIXIEM A2 E X 1,050,000 1,125,000 AT75,000
OFFAE0ss HE 1,050,000
= 600,000
= 450,000
22 X 7,200 0 7,200




SN 2sta
HH: 250s Y
el 23 0iTet P& U BEE R4 (sl &
SM-EH . C(BH) - HRAY - B2 O] Ak 4 %ggf; HRs2
308 XHXIEHHI SO 7,200 0 7,200
01 IXNHHESNEXZ 7,200 0 7,200
N N2 SRS 7,200
MAHZ AR 3 =l 150,000 0 150,000
308 KX SHHMS0IA 150,000 0 150,000
01 AIXHHBHEES 150,000 0 150,000
ONHG&2IRE 25 M 150,000
MEWNSZSHdEH AE 1,000,000 0 1,000,000
= 1,000,000
403 REXISHHI S XH 0| H 1,000,000 0 1,000,000
2 1,000,000
01 TIXI I X2 2 % 1,000,000 0 1,000,000
ONHDSSSHE A 1,000,000
& 1,000,000
QLESEESEEH HE 875,000 0 875,000
= 500,000
& 375,000
403 THXISHHI S XH 0| H 875,000 0 875,000
z 500,000
& 375,000
01 XIS AE2E X 875,000 0 875,000
ORFZE2SME (TAH/01ST) A 875,000
= 500,000
= 375,000
ISs=EgISstoisa2 A 1,100,000 0 1,100,000
= 1,100,000
403 AHXIEHHI S K201 & 1,100,000 0 1,100,000
= 1,100,000
01 AXIEH 22X 1,100,000 0 1,100,000
OZs=2g=stll=slz A28 1,100,000
= 1,100,000
NM2E £8P 2 600,000 0 600,000
2 600,000
403 KX SHHIS AH20] & 600,000 0 600,000
= 600,000
01 RtXISM 2L X 600,000 0 600,000
O 23tHssl 2 AE 600,000
= 600,000
LHE Zsta Ag 820,000 0 820,000
= 500,000
= 320,000
403 XXM S X201 M 820,000 0 820,000




2N 250 =D
M 230s B
©9l: 23 olZet IE L TEHX S4 (erel: @ 2
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
¥ 500,000
= 320,000
01 X SH =L S 820,000 0 820,000
OZZs 2 A 820,000
= 500,000
= 320,000
YA AN 597,000 1,000,000 403,000
2 597,000
403 Xk XI I S XH2 01 & 597,000 1,000,000 403,000
2 597,000
01 IXSHIZE S 597,000 1,000,000 403,000
OB FAILIS 2 A& 597,000
2 597,000
SR MarE 15,060, 188 15,485,099 1424911
= 7,163,628
p 767,448
= 3,089,963
= 4,039,149
2o R4 BED X HE 15,060, 188 15,485,099 424,911
= 7,163,628
p 767,448
= 3,089,963
= 4,039,149
2NESSH 2| 5,952,571 5,891,972 60,599
= 4,884,000
= 1,068,571
403 X+ XI €Al S KH2 01 & 5,952,571 5,891,972 60,599
= 4,884,000
= 1,068,571
01 HXSHIZLEE 5,952,571 5,891,972 60,599
O=INNE 2 243 5,952,571
= 4,884,000
= 1,068,571
2EE FeIES IRES 211,650 178,621 33,029
= 174,300
< 37,350
403 X+ XIS+ 4l S KH2 01 & 211,650 178,621 33,029
= 174,300
= 37,350
01 HXSHI=ELEE 211,650 178,621 33,029
O=INNE HeJIEE IB2S 211,650
= 174,300
= 37,350
=S INE-EESURESIE=T] 61,640 76,086 A 14,446
= 61,640
403 X+ XI A S XH2 0l & 61,640 76,086 A 14,446




M Z3t0=n
M ZRM dsEE
& 23R4S EEW JtX = (el =3
_ _ _ Muo
SA-E . S(E) - MEAY - BES Abod e SImE=ET
= 61,640
01 X SHHMA2EE 61,640 76,086 A 14,446
O=IJtXNE 23t =Jt01H | 61,640
= 61,640
THIEX 23t E+EH| 3,913,955 3,901,017 12,938
2 3,089,963
= 823,992
202 (44| 6,000 0 6,000
01 S LHAHbI 6,000 0 6,000
OEXNE ZatM E+EHl Ard Odl 6,000
403 XX SIS AH=01 & 3,907,955 3,881,017 26,938
&2 3,089,963
= 817,992
01 *XSHHMA2EE 3,907,955 3,881,017 26,938
O&EXE =23t E«=&H| 3,707,955
= 3,089,963
L= 617,992
O&EXNE =Z3tH et e Fh| 200,000
HSANE EEFHI 2,610,000 2,595,000 15,000
= 1,740,000
= 870,000
403 XX SHHEXH=0l & 2,610,000 2,595,000 15,000
= 1,740,000
= 870,000
01 AtXIEH X2 2 X 2,610,000 2,595,000 15,000
O SAME EEFHI 1,335,000
= 890,000
= 445,000
OHSAE SMAAE 25 1,275,000
= 850,000
= 425,000
SXNEE3M =I2t01H A D] 95,947 82,000 13,947
403 At X SHE =01 & 95,947 82,000 13,947
01 AtXIEH X2 E X 95,947 82,000 13,947
OEXE 23 =Jt01L4 D] 95,947
SE23M SIHEAMXA 34,000 26,900 7,100
308 XX SHMSOIA 34,000 26,900 7,100
01 AXHHBAEES 34,000 26,900 7,100
ORE23M SHEAM X 34,000
SE2M &K 191,700 169,800 21,900
308 XXM S0IA 191,700 169,800 21,900
01 HXHHBAEES 191,700 169,800 21,900
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SH: 2s0e D
Y 2N ASBE
ool 2sgaol BEN JIX BE (cr9l: @ e)
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0l & o i HIREY
OFREE=M dsXA 191,700
ESSSEESHP & St=aIHF 15,000 17,000 A2,000
307 21Ztol 15,000 17,000 22,000
02 QItFAE X 15,000 17,000 A2,000
O=S=SERaHT L S=UH3H= 15,000
SANE2 T LTHAHI AL 100,000 100,000 0
403 At XIS HEXH=01 & 100,000 100,000 0
01 AtXIEH X2 E X 100,000 100,000 0
OSXHST SAIAY 100,000
SRS ZAIE HiX 203,130 98,600 104,530
Il 152,348
= 50,782
308 AtXICHM S 01 203,130 98,600 104,530
Il 162,348
L= 50,782
01 HXHHBAEES 203,130 98,600 104,530
O=R S 2fAlelE B xl 203,130
Il 152,348
& 50,782
CSXNHIM SAHT JIF ()Y 140,000 112,000 28,000
308 XX SHMSOIA 140,000 112,000 28,000
01 HXHHBLEES 140,000 112,000 28,000
OSNESS BAHZ JIZ (o) &4 140,000
SIINEEZ3M MLl £X 251,600 422,875 A171,275
Il 207,200
= 44,400
403 KX SIS AH=01 & 251,600 422,875 A171,275
Il 207,200
= 44,400
01 RtXISM K E2LE X 251,600 422,875 A171,275
O=2XNE 23t M &Hl &X 251,600
Il 207,200
L= 44,400
3 FRFE AIR2eldl 13,000 13,000 0
201 det2Ad| 13,000 13,000 0
01 AR 2t 2ldl 13,000 13,000 0
OYsr+gH| 13,000
- dEtF & =ZH| 13,000
SRS 2ot ESIRNE L AL =X 2 52,700 65,875 A13,175
2l
Il 43,400
= 9,300




SN 2s0lE D
HH: 2R HSEE
ol 23R40 PED IIX BE (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b o bRz
308 XHXIEHHI SO 52,700 65,875 ~13,175
| 43,400
= 9,300
01 IXISHBAEES 52,700 65,875 A13,175
OZQSZ28 T Y228 L YHAILSR
xizel 52,700
| 43,400
= 9,300
Sl BA2LRY oA 16,688 24,510 AT7,822
2 16,688
308 XHXIEHHI SO 16,688 24,510 AT7,822
2 16,688
01 MXISHBAEES 16,688 24,510 AT7,822
O2s2el UL 22| 16,688
2 16,688
23R BSAY 65,000 95,000 30,000
308 XHXIEHHI S 0| 65,000 65,000 0
01 X SHBAEES 65,000 65,000 0
O8R4 BEAY 65,000
ROITBLST STHAIAE AFF & 9,107 15,300 26,193
| 7,500
= 1,607
308 XHXIEHHI S OI 9,107 15,300 26,193
| 7,500
= 1,607
01 X SHZABES 9,107 15,300 26,193
OZINZ ST STHAILE MEEI 9,107
| 7,500
= 1,607
2R BSAY(2ZF) 51,000 0 51,000
2 42,000
= 9,000
308 XHXIEHHI SOI 51,000 0 51,000
2 42,000
= 9,000
01 X SHBABES 51,000 0 51,000
OSSHUES D24AIY MM 25T 51,000
2 42,000
= 9,000
SHSS 42 X 260,000 0 260,000
2 200,000
= 60,000
403 XEXIEHRI S X2 0] 260,000 0 260,000
2 200,000




SH: 2s0e D
Y 2N ASBE
ool 2sgaol BEN JIX BE (cr9l: @ e)
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0l & o i HIREY
= 60,000
01 X SHHMA2EE 260,000 0 260,000
ORd=2a =2 T& 260,000
= 200,000
L= 60,000
HEAM IE2 A 90,000 0 90,000
403 KX SHHIS =0 & 90,000 0 90,000
01 AtXIEHH A= 2 X 90,000 0 90,000
OHEA I e 90,000
Z3NM B2 S MY 163,000 0 153,000
201 Bt Al 143,000 0 143,000
01 AR 2teld| 143,000 0 143,000
Oodxt= 143,000
- Mg 143,000
403 KX SIS AH=01 & 10,000 0 10,000
02 S| 2SOl CHESHCH e A I 10,000 0 10,000
o2&l 10,000
oS SALLY 510,000 400,000 110,000
Il 357,000
& 153,000
307 21zZtol ™ 510,000 400,000 110,000
Il 357,000
= 163,000
02 Bt atEx 510,000 400,000 110,000
OZstM=SAE 510,000
Il 357,000
L= 153,000
SE2IAM d=n=s2 243 MY 58,500 0 58,500
= 45,000
& 13,500
308 AHXIHMSO0I A 58,500 0 58,500
= 45,000
= 13,500
01 AXNHHEANEXZ 58,500 0 58,500
OS2 H+DSB HH3 AL 58,500
= 45,000
= 13,500
HY2H LU (23H0I=1) 81,671 83,511 21,840
Jl=&Hl 81,671 83,511 21,840
Jl=&Hl 81,671 83,511 A 1,840
201 et A | 18,081 18,081 0
01 AR 2t eldl 18,081 18,081 0
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